NAME: j puitEal

Find as many products as you can in one minute.

Find as many quotients as you can in one minute.

8+4 = 2+1= 12+4 = 24 +6=
6+2= 16 +4 = 4+-1= 6-1=
5+5= 7+7= 14+2= 12+6=
21+3= 6+6= 18+-6= 3+3=

Use mental math to complete the activity below.

Write the numeral that is

EX: 20000 ........ more than ... .... 158,622 \ 18,6272
300000 ........ more than . . . . .. | 417,500
5000000 ........ more than . .... 2,740,991
4,000 ........ less than ....... 975,864

20,000,000 ........ less than .. ... 67,986,584




Name:

Date:

Read each question and choose the number that answers the question. Record the
appropriate letter on blank that is labeled with the question number. When you are
done, you will have the answer to the riddle: How do skeletons send mail to each
other?

1

Which number rounds

to 80 when rounded
to the nearest ten?

Which number rounds
to 30 when rounded
to the nearest ten?

3 | Which number rounds

to 70 when rounded
to the nearest ten?

76 73 85
N M D

21 38 34
U A O

75 63 65
W Q X

Which number rounds

Which number rounds

6 | Which number rounds

to 60 when rounded to 250 when rounded to 510 when rounded
to the nearest ten? to the nearest ten? to the nearest ten?
54 62 67 2477 243 256 517 513 504
S T C H | R F R L
7 | Which number rounds Which number rounds 9 | Which number rounds
to 800 when rounded to 470 when rounded to 5,930 when rounded
to the nearest ten? to the nearest ten? to the nearest ten?
791 808 795 472 463 475 5936 5928 5,924
I U E Y J V F P G
10 | Which number rounds 11 | Which number rounds

to 1,620 when rounded
to the nearest ten?

to 4,390 when rounded
to the nearest ten?

1,611

1,617 1,628
G S D

4396 47382 4,3%
M P B

How do skeletons send mail to each other?

Skeleton mail joke — rounding to the nearest 10

7 3 9 6 7 10 10



